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Outline

« Jy Incentral and muon arms
e D> u+X
« B> J v+ X Inmuon arms



Jw Inmuon arms
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Jw Inmuon arms

» X, values computed from Jy kinematics (Leitch
and Raufeisen curves) underestimate actual X,
especialy at low rapidity (large X,).

e Using PYTHIA valuesfor convenience, may want
to consider COM for future.



Jw 1ncentral arms
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D> u+ X

Appearsto have large gluon X, and X, coverage
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D> u+ X

~0.13 < ave X, <~0.22, m.p. X; ~2X smaller
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D> u+ X

~0.01 < ave X, < ~0.04, m.p. X, much lower
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x2vs Q2D 913
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B> J w + X with muon arms
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B> Jy+X

~0.18 < ave X, <~0.40, m.p. X, slightly smaller
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B> Jy+X

~0.03 < ave X, < ~0.06, m.p. X, much lower
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x2vs Q2 B 913
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Summary of D and B Decays using the
muon arms

o Significant differences exist between mean and
most probable values.

» Effective X ranges are much narrower than those
of the raw gluon distributions.



